
 q = 100 First Species           P1 m3 M3 P8 m6 P5 m3 m3 P1  
12 First Species / My own Cantus Firmus  Here I wanted to eliminate

3 parallel 3rd's one after another    No more dissonance,
but parallel motion ;/     P1 P5 m6 M3 m3 m6 P8 M6 m6 m3 P1

23 Second Species   Now it resolves:
B, F to C, E  I'm not sure,

whether I resolved 
this P4 in right way   P1 m3 m3 P5 M6 P5 P8 m6 m3 5dim M3 P4 P8 P5 m3 m2 

32                  
41                  
50              


